No. of Printed Pages : 7 5201

INTAAER 8o, o

SO

&Ted jemey : 2.00 wewtl CHILD | [ Qwrss wHlGlL@TSET : 100

SDleyemrae : (1)  Smaisg ellamés@sbd Fflurg SiFal udeird o 6Tergm eramLSemand

slluriggs Camerera b. F&HlILSelD Gapuidmiber, Sems
sesrantliureril_b o | anguinss Ggflelssea|m.
2) Beod ook &MUY owullamer wLHGEWL TWguSDHELWD,
Sllg&5CaTy(Heugn@h uwetuhss CelamHi.
LS - I

ghlwurer elleLemwd CobOsHSg GMUILD erawamil e ellenLenwiwb Cargg)
CT(LDSIS. 3x1=3
i) WD assF FHmss Lenfluled FHUL L6 :

(=) urrdlsreer (<) spens Cuflwimrr

(@) eu.o. SlgbUremT () QumepSgsermi
(i) wdleume eumr(d __ 2 ewreuail$Se BLOG SLenLD.

(<=1) Al ppaurses (=) Swp5TEES

(@) Sppsaiss () ewibsarsE

(i) <CursHarsr BLESW QS :

(=1) poeousTs silper (<) sTaants silper
(@) <mrwenrs FHlper (F) =iy evusTS SLblLpen
Camgl L @)L migeer HlrliLs. 3x1=3
(i) eLe e AFlsfuugred gouBd CrTLSEDHET 6T
(i) eumeled H(m Goranmlanmed wenlp GlUMPu|d ererui.
(ili) BLOEHLD Qurmgss Camerer CouenT(HLD.

[ Turn over



5201 2

3. &pssramib efembLrsasll Ligsg HNammés@hsa@ ellenl er(pgis. AxVp=2

LrEUGD Y5588 &TL_8
gure 13 pged 23 (Lpig Ul
Lged 2 wentl - @re| 9 wewi

@rruiGuienl ¢ul.6TLD.&l.6T. EPOSGTEILD.

Sl Ld S|OSTEUHLD GL(HS !
@eaigbd vwesr Glumis !
NevTn&S6T :

(=) eflemburd ergenarl LHOlwg ?

(<) SETHTLSIESHTET BINLPES SHLLGUTLD GTEUAIETE] ?
(@) sarsrl & erssamen Bl geT beanl lumdlng ?
(FF) samsrl & ermi@ el umdng ?

4. Qumfl QuUWTEsaLD. 2
(=) Chief Minister (<4,) Support
&gl CsHeTrs DTenTelTs@hdsTer rHm eflemT : 2

o flw QL gdle sGLpamsamer 6r(LpgIs.

(@)28 ()36
Q)42 (r) 51
L@ - 11
Nifley - 1
Getreu(meuaeupmeT eTemeuGEnIDd Mgl elarnmasEhda@ ellanl H(Hs. 5x2=10

5. 2 & TeUDMTE 6018 ?
6. STACOHITESG APSTEUF 6T ?

7. wWmEG ARG el Ceaum oanflsaanser Coameuuldane ?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

3

Ludlirser eurl L iflemdls Henersg elerrs CoHeneuwmeng wmg ?
L&SSIE ST saTey Wrg| ?

eTgl QUmELDEIS SHD ?

Gamevall eriiGurg) grammHCasram@n ?

Sifley - 2
Germeu(peuaTeLdmieT eTemeuGuUIaIDd MEHMISE elan wafldsea,b.

a0l eT(1PSGI Hlenav GTemmTed TG ?

ellener CaT(hdg euMmbs @QUITSMmel cTard ST L) Fnmeue Wreanel ?
LenarGuirenewmed 2 (heursslU(n Cummerser wrene ?

Q&TEIE, BTLlged LITULD MmS6T Wmene ?

ST ID(HSFIeuSSHed WDHHGIGETTSL Liiem(Helem Wrenel ?

SCwrsS graflidb Qmbs obgl LETLSET Wrenal ?

SDCUGST Her Gy erer rHmls GlEmarLmT ?

Nifley - 3
Gemmeu(peuaTeLpmieT eTemeuGuUIEIDd MEHMISE elanwafldsea,b.

FhE LG cTeTmed GTemmen ?

LT eT$SemaT eUem&LILI(HID ? Sfenal Wrenel ?

5201

5x2=10

5x2=10

[ Turn over



5201

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

4

@r (O Qwrhge ojamfl ereusurm CUTmHET HHD ?
@QueL YeauriEflepw eT(h&gSSTL(hLem elems@s.
Qzfibleney eflenarpmm eraumenms ST(HLd ?

GTESID GTGIMITED GTEITEN ? S CUMSSHET WITEHE! ?

eT(WpSgisater MmLUIL erammed eTemen ?

UGS - I
Sifley - 1

Geeupeuameupmer stemeuGuiend @rewTenis@ olenLwieflssab.

SIPQTHlen auTPSEL LUMFHWTT SFmmb HHSSISSEMET 6T (SIS

werp&Gamm eT(h$S e ereuaumm wenlp GlLsg ?

QrdwssTis ereveurm sridlwefsHprar ?

Nifley - 2

Geeu(peuameupmer sTemeuGuignid GrewTenis@ edlenLweflssab.

ueTelld GLHMSSHEHSE HSSHIEUT Fmmid He|eTseT Wremel ?

<bCussiler s Carger Ceupmdl GHSSH 6T(Hss.

Crmiser ClLmes STaurd ereme ?

2x4=8

2x4=8



5 5201

Nifley - 3
32. QUTMHSHIS. 4x1=4
) BB - pHEp&ED
(i) CGuélw - @Myl Quurgsbd
(il) er(hSSevem 2 eHrL_me - QuwQrésbd
(iv) Quflw - denerQussid
Nifley - 4
33. Ulemeu(pd lemdsEnd@ ellenwafldsaLb. 6x1=6

(i) esflurer wrys derdeame rpgis.

ute _ (G4/UBE)

(i) wrH euwedled Leeme CowlibBsSE).
- @5Qgr_flgérer adleneamiphenm 6T (LHs)s.

(i) LDEOT LIMTENETENUI GUEHETHSTET.
@50 Qumeners GHSH D).
(SHflss0/ 2pE56)

(iv) o fwu QL misefler HNSsHESH QHS.
Fm.e4.8 erpdw Cuamenflen GLimend eremend B Lsp GLHDS)

V) Qedsar GHILIL SHs.
eSO

(vi) @rew® Csrisamer Cr CgmLTTdHEs.

erend@ Lme Cauam(hib. erens@ UL Geuam(hib.

[ Turn over



5201 6
Sifley - 5

34. urLeell LigsgIL emeumb ellarmssens@ edlanlwefléseb. 5x1=5

Bloown § B euefll ellabCUT®H BBSHID
&EOHS DUISEHD 2 S 5606
GQmdlenant LT QuILEBMH eULPTELDS
glifley@ed CgmCGar®h spreid Ceuarhibd
wryblene Slflged GQFuwiu)l @ Geena
wryel Pl UL QEmededlem e
wryblened SHilufler Wdlg Gdlsm@LD.
- GlgmevsmiSlwi.

elesTnSEeT ;
3l) @ Senantaer crenel ?

<) BDLLSEIGET WTEnal ?

(
(
(@) ‘efl&bL’ eremugen QUMmeT Wirg ?
() gbumrd - lfgg er(psis.

(

2 ) Cuhsewr UrLe @Lb6lupm mHIe ergl ?

uGS - IV
erreumeuaeupmer eTCaemID seIm@ llflourear allenLwieflése,b. 1x5=5

35. wafls WHHrd segamw Warml & &HSID FaneusTs wrHPl er(pHis.
36. smHME HMmeilser GNSS CFiiSlsmens CETEHESH 6T (HSIS.

37.  epeneruden euegl, QL g urshisaier Cewudurhger undls CsTESS (PGS



38.

39.

40.

41.

42.

43.

7 5201

&S -V
Sifley - 1
a_(hevr eugellev allenL weflEse . 1x7=7

(1) 2epliCu 2 wiey
ENTVIOVE:
(<) w&565TND gemenmd SHMSGESTET

Nifley - 2
Slewreupd allarmeiln@ eflenL wiefdsayLb. 1x7=7
(=) eflenemwimr(His Cumiiquier Qeupml Qupm 2 6 BaTUeNSEGL LTFTL(hé
& HLD 6T (LGS

LMV
(=) @b s gremm GCeuenrlg. eul LTl HuimsE allarenTliLb 6T(Lps)s.

U@ - VI
S|IGLDTDALDEY 6T(LPGIS. 2+2+3+3=10

‘Befled QFTmId ....." eTand QFTLBIGD Gmer.

‘GG ....." TAT (LPIGULD (GDET.

sHCDTTEES, ..... aarg Carmig BHABM eflerdsiiLimd.
‘@G @G’ ..... creng CsTLmi@Ld SHmepeotler Lim_e.

-00o0-



No. of Printed Pages : 7 5202

ENGLISH
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write.

Note: (i) Read each question carefully before answering it.

(i) Write neatly and legibly.

PART -1
SECTION - 1

Choose the correct synonyms for the underlined words from the options given. 5x1=5
1.  The mother consoled her little girl.

(a) pretended (b) comforted (c) left (d) realised
2. Rani was frightened of something.

(@) scared (b) hiding (c) depressed (d) horror
3.  Nobody could tell what the sunshine was composed of.

(a) made (b) known (c) full (d) gaining
4. TIsaac acquired knowledge by the simplest means.

(a) use knowledge (b) being knowledgeable

(c) getting knowledge (d) thirst for knowledge
5.  He stood astounded.

(@) happy (b) shocked

(c) sad (d) dumb founded
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10.

11.

12.

13.

14.

15.

SECTION - 2

Choose the correct antonyms for the underlined words from the options given.

The wife replied angrily

(a) calmly (b) annoyingly (c)

Sindu bought the latest mobile.

(a) updated (b) outdated (c)

His grandmother was very kind to him.

(a) affectionate (b) loving (c)

The neem tree provided shelter to many birds.

(a) residence (b) unprotection  (c)

Ramayya’s wife was confined to her bed.

(a) locked (b) free (c)

SECTION - 3

Say whether the statements are true or false.

irritably

new

disrespectful

home

sink

Shree went alone to the train station to meet Chaitra.

Jack picked up the giant’s hen.

The bearded man was an enemy of the king.

The Pundit was an eloquent speaker.

Four dogs accompanied Caesar to the hospital.

(d)

strongly

modern

cruel

security

tied

5x1=5

5x1=5
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17.

18.

19.

20.

PART - II

Choose the right sentence pattern.

i  In 1998, Frank moved to London.

(@) ASVA (b) ASVO (c) SVIODO
(i) Pooja hired a bicycle.
(a) SV (b) SVO (c) SVA
Syllabify the following words.
(i)  school
(i) English
Pick a suitable prefix or suffix from the box.
| able, mis, ful, ly
(i) success
(i) comfort
(iii)) new
(iv) understand
Write the following sentences in the reported speech.
(i) He said to me, “What are you doing ?”
(i) Tom said, “I am fine.”
Fill in the blanks choosing the right tense.
(i) They all the arrangements before the guests arrived.
(a) will have made (b) will be made
(c) had been making (d) were making
(i) The climate of the city mild and pleasant most of the time.
(a) is remaining (b) remains
(c) was remaining (d) is remained

5202
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2x1=2

2x1=2
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21.

22.

23.

24.

25.

Choose the correct conjunctions from the options given in the brackets.

(i) Lokesh will succeed he works hard. (if/so)

(i) Gomathy is both cute lovely. (and/so)

(iid) he was ill, he went to the doctor. (As/Though)
(iv) Shekar is intelligent careless. (but/although)

Fill in the blanks choosing the correct preposition given in the box.

| after, in, on, for

(i) Buy me a present my birthday.
(ii) Christmas is December 25th,

(i) I first met John 1987.

(iv) I was born the Great War ended.

Match Section A with Section B, making suitable compound words.

Section A Section B
(i) moon soda
(ii) match mark
(iii) book light
(iv) rain box
(v) baking fall

Write the common noun for the following proper noun.

(i) Coimbatore -
(i) Lion -
(iii) Dove -
(iv) Kabilan -
(v) Saleema -

Fill in the blanks with the correct degrees of comparison.

POSITIVE COMPARATIVE SUPERLATIVE
@ long - longest
(i) bad worse -
@ o happier happiest

4x1=4

4x1=4

5x1=5

5x1=5

3x1=3



26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Write the blended words for the following :
i)  international + police

ii)  helicopter + pad

~"

iii) motor + hotel
iv) education + satellite

(
(
(
(
(

\% electronic + commerce

~—"

PART - III
SECTION -1

Punctuate any one of the following sentence.
(i) he was loving honest sincere and hardworking
OR

(i) in switzerland there lived a famous man called william

SECTION - 2

Answer any five of the following questions in one or two sentences each.

Where did the sparrows build the nest ?

What did Ramayya’s wife do with the stud ?

What was Rani afraid of ?

Why were Isaac’s friends attracted to the wind mill ?

In what ways the rivers and its banks have changed ?

How did the young boy find the strength of the wind ?

What did Asha Devi teach Ajay ?

What was the name of Vetri's Company ?

5202
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36.

37.

38.

39.

40.

41.

SECTION - 3

Answer any two of the following.

Read the following lines and answer the questions given below.

Every soul that touches yours -
Be it the slightest contact -
Get there from some good.
(a) What should we learn from every soul ?

(b) Name the poem and the poet.

You're my special hero

and I wanted to tell you so.

(a) Pick out the rhyming word.

(b) Who is the speaker’s special hero ?

My hobby is reading
It helps me
In thought breeding.
(a) What is the poet’s hobby ?
(b) How does it help him ?

PART - IV
SECTION -1

Answer any one of the following questions in a paragraph.

How did Ajay’s father find his son’s talent ?

Explain how does the author spend his afternoon.

What happens if someone is addicted to the mobile phone ?

2x2=4

1x5=5



42.

43.

44.

45.

7 5202

SECTION - 2
Write a paragraph about any one of the following : 1x5=5
(a) Importance of Internet.
OR
(b) Importance of reading books.
SECTION - 3

Your school is going to organise an inter-school dance competition. Write a notice

for your school notice board inviting names of all the interested students. 1x5=5
OR
Write an email letter to your friend telling him about your vacation with appropriate
format.
PART -V
Write a letter to your friend inviting him to your birthday party. 1x10=10
OR

Write a letter to the Police Commissioner about the noise caused by the

loud speaker in a music shop near your school.

PART - VI

Quote from memory. 1x6=6

From: When

To

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - 1/PART -1
Qarhssiul(erer wrHm elevLsefled Wsa b ghmL alnLamus
CambOsh&55 GOHUILHLer alenulamanb CFrsgl 6r(pse]w. 15x1=15
Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

1. Yereumd Camgsefled erg Fwrear eramseflen Camgwim@n ?

-20 5 16 -8
(=) 4573 (=) 230" 15

—-18 —-20 7 =5
(@) 36 ’ 44 (IT) __5’ 7
Which of the following pairs is equivalent ?

-20 5 L 16 -8
@ =573 ® T30 15

~18 - 20 A
) 36 T b =57
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Gemeumd LawTLsefle) erencu alldlsupm erarmsatien sLH550I6@E 2 EHSSTEGW ?

(1) SewLeyLll LiewrL (<=,) uflwrdHmis LesT

(@) Cerlyl wewry (/F) gwafll Lewty

Which of the following properties hold for subtraction of rational numbers ?
(a) Closure (b) Commutative

(c) Associative (d) Identity

123454321 -@ &7 aUT&ESHePOSIH QICTET (3) 6088 MhS 6l 6T 6T Gior 6wl & 60 & Ui T v Gyl

. B

(1) 4 (=4)5 (&) 6 () 7

The number of digits in the square root of 123454321 is :

(@ 4 (b) 5 (€ 6 (d) 7

—3m3n x 9( )= m*n? erary GQu@ssHuoaid eNHulL
SIS STas.

(<1) mn?, 27 (<) m?n, 27 (@) m?n?, —27 (FF) mn?, —27
The missing terms in the product

—3m3n x 9( )= m*n3 are :

(a) mn?, 27 (b) mZn, 27 (c) m2n2, —27 (d) mn?, —27

@I crewramtian 60% -aM(Hbgl 60 -8 HLPSSTL 60 FlenL_&@GLD eTemled, b 6rewT

________ G0,

(1) 60 (<4,) 100 (@) 150 (rF) 200
When 60 is subtracted from 60% of a number to give 60, the number is :

(@) 60 (b) 100 (c) 150 (d) 200

Qe CETLiT SeT(@EhUlgseTTer 20% WwHmID 25% pSlweupdlng Hlarmer
@Cr s6T@ERUlY 56150 <9},&LD.

(1) 40% (<4) 45% (@) 5% (/F) 22.5%
The single discount in % which is equivalent to two successive discounts of 20% and
25% is :

(@) 40% (b) 45% () 5% (d) 22.5%

@ Quibdrsder allene T 18,000. 2ig @& 15% 6igb Cslinrerid
L Sngl. 2 YaTHHEREG UAnE@, g6 L Y GLD.

(1) T 12,000 (<4,) X 12,500 (@) ¥ 13,005 (rr) % 16,500
The cost of a machine is ¥ 18,000 and it depreciates at 15% annually. Its value after

2 years will be .
(@) ¥ 12,000 (b) ¥ 12,500 (c) % 13,005 (d) ¥ 16,500



10.

11.

SFFHTESI T : (PSBISGET, ellaTbLSH6T, 2 FS&6T :

(=1) 6,12, 8 (<) 12, 8,6 (@) 8,6, 12
Cube : Faces, edges, vertices :

(@) 6,12, 8 (b) 12,8, 6 (c) 8,612
@ eulLgdlen BsUGLfw Brer G LD.
(1) epave G L LD (<) b

(@) eflL b (FF) eul L &lé
The longest chord of a circle is .

(a) Diagonal (b) Radius

(c) Diameter (d) Circular Arc

el LgSler &Hmere

1 -
(=1) mr? (=) 5 ™ (&) (m+2)r
Circumference of a semicircle is

1 5
(a) wr? (b) 1™ () (w+2)r

5203

(Fr) 6,8, 4

d) 6,8, 4

(FF) 2mr

(d) 2mr

AGUT <y eg) e @QmawusEs temGsran psGamand erefler LTUG eremLig)

. G,
G
U T
(1) 30° (<) 40° (&) 45°
If AGUT is isosceles and right angled, the ZTUG is
G
U T
(a) 30° (b) 40° (c) 45°

(/F) 55°

(d) 55°
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12. afGsramgdler shmieil L Lorang LDPSCSHTanTSS 6 WG EEMET
S MLOW|LD.
(1) 2ar (<) Qauef
(@) sramsSler enwuwiliLjererfl (FF) @emel aarsgIb
In an obtuse angled triangle, the circumcentre will be
(a) Inside (b) Outside
(c)  On the hypotenuse (d) All of the above

13. Wsrsren Cspmsenst LweTUOHSHE QETHESILIL(DETET 6ThS LISGSBISET 6(Th
QemGarent PSCETETSIEN LISSBISET QN6 CTETLINSS SHTeHTs.
(=t) 8,15, 17 (<) 12, 13, 15
(@) 30, 40, 50 (/) 9, 40, 41

Check whether given one sides are not the sides of right-angled triangles, using
Pythagoras theorem :

@) 815,17 (b) 12,13, 15
(c) 30, 40, 50 d) 9,40, 41
14. grey ereLig) Qe CsmELiy.
(1) eTeraeT (=) eT(WSGI&6T
(@) SfeTeyser (FF) Qe amarsgIh
Data is a collection of
(a) numbers (b) words
(c) measurements (d) all the above
15. @Qew(® erawrsafian BUGCLIMH QuTgssmyent Ty enel &mm

LG GTET&HET 6Tl (HLD.

() 2 (<=)3 (@) 0 (rF) 1
Two numbers are said to be co-prime numbers if their HCF is :

@ 2 (b) 3 (© O (d 1



16.

17.

18.

19.

20.

16.

17.

18.

19.

20.

21.

5 5203
L@&d! - 11 /PART - 11
QUTBSSHIS 5x1=5
BrH&rSdler LrlLere, - %h(a + b) FGIT SHOGSET

o

360°

aul L& Caremiugduler snperay X 27T @GS ET

sfleusgdlen LirliLiemey - % d(hy +hy) F.EGSHeT

Ul L &CasmenTl) Li@dluden

aflevadlerr Barid - mr? F.OOGSET
UL Sler LFliLienay - [+ 2r S @seT
Match the following :

Area of quadrilateral - % h(a + b) sq. units

o

360°

Perimeter of the sector - X 2 7r units

Area of trapezium - % d(hy + hjy)sq. units
Length of the arc - mr? sq. units
Area of the circle - [+ 2r units

L@&S| - III / PART - III
sTemeuCuien|d LS elaTTéEsErdsE alenLweaflésea,b. 10x2=20

Answer any ten of the following :

5 . 6 : . )
(o) ot (-2 e
Subtract (—2£j from (—4ij

11 22
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22.

23.

24.

25.

26.

27.

28.

29.

1944 (B (IP(LP HET GTEvTanTeLE 6Tem [lemiG&sHe]| .
Show that 1944 is not a perfect cube.

LUSTESSTIaTILHSSHISD (Pl 784 -6 UTESHAPEOSMNSH HTEHTs.

Find the square root by prime factorisation method : 784.

y> =27 eraip Camencuenw pHEpmmenwewls LweaL(idsd srranfllinBss!s.

Factorise the expression using identity 1> —27.

SBSSHES epem Dy erarseaien gmbhige 75 erafled, SHeudmer ergl Guiflw
eTemr ?

The sum of three consecutive odd numbers is 75. Which is the largest among them ?

% 3,00,000 wgllierer ¢ wdlphbens T 2,00,000 -&@ eSlHmre, b Wl phdlen
lenead GDULE FSISSMSH SIS

If a car is sold for ¥ 2,00,000 from its original price of X 3,00,000, find the percentage for
decrease in the value of the car.

15 Y aser ¢ Couemeenw (Pig&Hs 40 Briger r(hsgHs Camereum erele,
Slauig@plen Coeibd 15 yarser Carbgrew, NCsH Ceumerwimerg wpigw
ergFene Bl ger CoenalliLi(hibd ?

If 15 men take 40 days to complete a work, how long will it take if 15 more men join
them to complete the same work ?

pm el L&Caraml ugdulear aldadear Bard 50 W.15. LHMD <Fbd
14 015, ererflléd igem LFlILETE6US &TehTs.

Find the area of a sector whose length of the arc is 50 mm and radius is 14 mm.

20 g ﬁr}@‘r@a’Tm gantl, senyuledlmbgl 16 2l 2 wirssed seufanens QFTHiomm)
FTLSEH eneussLILIL(HeTerg) erartley, FHeumlalmbgl eramtlufen ojqliL@dwrerg)
cTEUGUGTE| FMTSHSHled 2 aTerg ?

A 20 feet ladder leans against a wall at a height of 16 feet from the ground. How far is
the base of the ladder from the wall ?



30. ULSSleb PR wpmid QR -g3 Sratms.

In the figure, find PR and QR.

31. Gamgql L @)L miseamer Hlrlis.
Wp&CaTentd ABC -6

A

B D C

(i) Carewr @QmawClel i
(i) GCemEsssGsr(H
Fill in the blanks :

In the triangle ABC,

A

B D C

(i) The angle bisector is

(i) The altitude is

AGLD.

2AGD.

5203
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32.

33.

34.

5% @LienLI&SeT

5% HLO GTewrlamril Lilg 6| &eT A
10% QarfpsTene sidleyb A
10% &6 CuUTSEGeUrss)

20% STHMI DTS

20% Blevgsle|ser

30% sLfleybir

sLlen Lr&Eser Feoliug ummsé Csrhssiiul(erer el L eileT&HsL

UL sSlaperer GFuiSlsetladl(mng TGCI@ID BTen@ &HSSISHMET 6T (SIS

5% Litter

5% Off shore oil
10% Industrial waste water A
10% Maritime transportation

20% Air pollutants
20% Farm run off

30% Sewage

Write any four points from the given pie chart information regarding pollutants entering
in the oceans.

@@ Arrogdadrer 26 aihsafer Wererys slLard $C& QasrHidsl-

Ul (herergl. Hlapleuar Lald L cueamaniid Swmi Clguis.

The EB bill (in %) of each of the 26 houses in a village are given below. Construct the
frequency table.

215 | 200 | 120 | 350 | 800 | 600 | 350 | 400 |{ 180 | 210 | 170 | 305 | 204
220 | 425 | 540 | 315 | 640 | 700 | 790 | 340 | 586 | 660 | 785 | 290 | 300

36 HMID 80 -&@ QT &S0 Wepuled WBLCAU®m CQurgsd srraflews

HTETS.

Using repeated subtracting method find HCF of 36 and 80.



35.

36.

37.

38.

39.

U@ - IV /PART - IV

sTemeuCuien|d 61 (h ellamds@EndsE ellanwefldsa]b. 8x5=40

Answer any eight of the following :

— LOHmID _ig < FwepdnSlerCuw 6 NSFLPM cTaTEMaTS STeTs.

11
) . -7 5
Find 6 rational numbers between ETh and =
LI SIS :
. 92 x 7B X2
@) (3‘1 +4‘2+5‘3)° (ii) 3
84

Evaluate :

92 x 73 x 2°
() (B 1+42+53° (ii) YE

Cgan@urluler sHCUTepsw alwig preafuier elwiams el 5 e Hser
SFsD Y @&WD. 5 YaTHHERHEEG (et CsartrpsEd wrals@n @ent Gw
@mbs euwig aldlsd 3 : 2 eraflew, Seurseaier HCUTMSI QLI eTeTeT ?

At present, Thenmozhi’s age is 5 years more than that of Murali’s age. Five years ago,
the ratio of Thenmozhi’'s age to Murali's age was 3 : 2. Find their present age.

a(h wrsHer sHCLTSW 2 Wb 847 Q&.18. g T (H&E 10% eI auaTidng)
ereoflen, 2 AT (HHEHEG (6T ASET 2 LTSNS &TEHTs.

The present height of a tree is 847 cm. Find its height two years ago, if it increases at
10% p.a.

A opmib B HCwimt e Couemavent penmGui 12 B g6 Hmid 9 Bl sertle
Qeweum. Wpwsed Brer A -p& Qaran(h Coumwmws Qsrimd, 055055
Brisefler @\meumd GCeuanevenw CFwilemen eretleh, GCoueneuimreng) 6r&seamen
B sefled (piguyd ?

A and B can do a piece of work in 12 days and 9 days respectively. They work on

alternate days starting with A on the first day. In how many days will the work be
completed ?

[ Sl / Turn over
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40.

41.

42,

43.

10

% 8,000 -5@ 2 gam(HsEhs@ Sl ss safl el igs@Gh sl (B Ul lgsELh
Qe _CGuwyerer allggwirgd T 20 eraxfled, el ly igSmss STaTS.

Find the rate of interest if the difference between C.I. and S.I. on ¥ 8,000 compounded
annually for 2 years is I 20.

&G Qar@asiul_(Herer elleurhiaEhs@ Ul L eleTdslLLLD auamrs.

QUpBRISL_ T | LIFLNS | o menriqd | @QBSIW | Tiqd | Djermiiq&
Bfler ooty | 46% 24% 20% | 4% 6%

Draw a pie chart for the following information.

Ocean Pacific Atlantic Indian | Arctic Antarctic

Water 46% 24% 20% 4% 6%

AABC -@e, S eremig) &hHmiell L epowid, BC=72 Q&.18. whmib DS=15 Q&.15.
erafléd &mmieul L SSH6m UTSMSEH STeTs.
In AABC, S is the circumcentre, BC=72 cm and DS=15 cm. Find the radius of its

circumcircle.

A

S

15|cm
1

B D C
72 cm

Yemeumh  TaTHEREGS QsTLT  u@gsse  wepulld UG
QUTGIGETrERTeNILIS STeTs.

@) 455 wHmID 26

() 392 wHmbd 256

Using repeated division method, find the HCF of the following :

(i) 455 and 26
(i) 392 and 256



44.

45.

46.

47.

11

RBISHD LCsHTmT allqel Hlomisaier LIFLILGTENEIS &Tes.
Find the area of the irregular polygon shaped fields given below.
D

HRm C

8m
10|m
gL 8m g

35 Q&.15. g reperer Ul auigellerear SlDameviyd UMETLILDTEG 5 FLO
Sjerajarer allpserrasl 9AssLLLH CeucuGoum Hlmmisafled euemremrisll_Li
L (DéTerg) ererfled, eeublaum(m eul L cldedlen Herdengub SHranrs.

A circular shaped gymnasium ring of radius 35 cm is divided into 5 equal arcs shaded
with different colours. Find the length of each of the arcs.

15 5% 8 1 eremy oereyarer GFeueus aligel Hlogdler 4 epaasaiQib g6
Bhelgd 3 5 Berpdrer sulpmred LssseT sl Ll (Hererer eTald erhsLl
L&ema(d Lbaer Cuwiliurrg ugdluler urliuamenelsd Srems. (r=23.14)

In a rectangular field which measures 15 m X8 m, cows are tied with a rope of length

3 m at four corners of the field and also at the centre. Find the area of the field where
none of the cow can graze. (w=23.14)

UGS - V/PART -V

esteu(pLd ellanméa@nsE ellenl wefldEseayb. 2x10=20

Answer the following questions :

(<=1) prharb EASY, EA=6 Q&.15, AS=4 G&..5, SY =5 Q&..5, EY =45 Gl&..8. pmb
ZE=90° Qa&r(h&suul_(HeTer HeTe|Hamerd C&TarL BrH&yld euamybHg)
SjeumMle LFLILITENGUS &HTeuTs.

S|V

(<) RO=5 Q@&.15 wHmib RS=8 Qg.15 eareyser Qamanr ROSE eresim Fmilgg|rid
GUMTHG! DNS6T LITLILIGTENEUS ST6Ts.

(@) In Quadrilateral EASY, EA=6 cm, AS=4 cm, SY=5 cm, EY=4.5 cm and
ZE=90°. Construct the quadrilateral with the given measurements and also find
their area.

OR
(b) Construct a rhombus ROSE with RO=5 cm and RS=8 cm. Also find its area.

[ Sl / Turn over



5203 12

48. () YemeuHd FOGTUT(HSEHEHSE UMTLULSMNS U, i =x—4.
360605
(<=1,) ECp Qar@ssiul_Hidrer elleurhis@EhéE UemTLLLD eI s.

sgIrsSean Lssmser (Cg.S5.)| 2 | 3 | 4 | 5 | 6
urliuerey (Q#.u58%) 4 | 9 |16 | 25 | 36

auenrULLOTegl ¢ CrTECSHTL(H enlienusd @GblsHlemmsm ?
(a) Draw the graph of y=x—4.

OR
(b) Draw a graph for the following data :
Side of a square (cm) : 2 3 4 5 6
Area (cm?) : 4 | 9 |16 | 25| 36

Does the graph represent a linear relation ?

-00o0-
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Check the question paper for fairness of printing. If there is any lack of

Instructions : (1)
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
PART -1/I-&.,

15x1=15 t_ o ie S KRR Ui Je iz £ 4

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

¢ c SSSimsie stdits A

16 -8 -20 5
—30" 15 ©® 13 @
7 -5 ~18 —20

-5 7 @ 36w ©

Which of the following pairs is equivalent ?

-20 5 L 16 -8
@ 53 ® 3 15
—18 —-20 9 L =S
© 36 u b =57

[ gtg‘ / Turn over
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¢ o Qe Suie S enl L3 TSP

= () @
<3 (d) i/ (0
Which of the following properties hold for subtraction of rational numbers ?
(a) Closure (b) Commutative
(c) Associative (d) Identity

e Gl Ui 8 ke L 123454321

7 (d) 6 () 5 (b) 4 ()
The number of digits in the square root of 123454321 is :
(@ 4 (b) 5 (€ 6 (d) 7
—3m3n X 9( )= m4n3
: ugu.t"/pwui‘_,/‘f L
mn2, =27 (d) m2n2, =27 (¢ m?n,27 (b) mn2,27 (a)
The missing terms in the product
—3m3n x 9( )= m*n3 are :
(@) mn?, 27 (b) m?n, 27 (c) m?n2, —27 (d) mn?, —27

L Gwns Vb P 60 e U 60% Lol L& SN bsuk 60

200 (d) 150  (c) 100 (b) 60 (a)
When 60 is subtracted from 60% of a number to give 60, the number is :
(@) 60 (b) 100 (c) 150 (d) 200

Bt % ."/‘565#’»@6}&‘&: 25% 31 20% U%KJJI%J
225% (d) 5%  (c) 45%  (b) 40%  (a)

The single discount in % which is equivalent to two successive discounts of 20% and
25% is :
(a) 40% (b) 45% () 5% (d) 22.5%



3 5204

- G el 2-e 8§ 5715% S e S Uuiie 718,000 SIGELL 7
216500  (d) 13,005 (o) 12500 (b) 12,000 ()

The cost of a machine is ¥ 18,000 and it depreciates at 15% annually. Its value after
2 years will be

(@) T 12,000 (b) T 12,500 (c) T 13,005 (d) T 16,500

i sl e ﬂ,u’“( 8
6,84 (d) 86,12 (o) 12,8,6 (b) 6,12,8 (a)

Cube : Faces, edges, vertices :

@) 6,128 ®) 12,86 () 86 12 d) 684

- ‘at'nblflc_'/%/’bu/ 9

Hid (b k2 (a)
g (d) £ ©
The longest chord of a circle is
(a) Diagonal (b) Radius
(c) Diameter (d) Circular Arc

- < bbb 1Ll 10

2mr  (d) (m+2r  (c) —m? (b) w2 (a)
Circumference of a semicircle is
(@) 2 b) - © (m+2)r (d) 2mr

[ gtg‘ / Turn over
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} LTUG 3526 slisle ISkl AGUT 1

55° (d) 45° (o) 40°  (b)
If AGUT is isosceles and right angled, the ZTUG is
G
U T
(@) 30° (b) 40° (c) 45°
sz (b)

Foer (d)
In an obtuse angled triangle, the circumcentre will be
(a) Inside (b) Outside
(c)  On the hypotenuse (d) All of the above

G
T
30° (a)

(d) 55°
Erblol e adio s sl
¢ (a)
¢ (©

L I NG S 5T EE Bl s E S K f Lk

12,13,15  (b)
9,40,41 (d)

8,15,17
30, 40, 50

Check whether given one sides are not the sides of right-angled triangles, using

Pythagoras theorem :
(@) 8,15,17 (b) 12,13,15
(c) 30, 40, 50 (d) 9, 40, 41

(@)
©)

a1

12

13



Data is a collection of

(a) numbers (b) words
(c) measurements (d) all the above
% HCF 6o igs & Lty S/l
1 (d) 0 (o) 3 (b) 2 (a)
Two numbers are said to be co-prime numbers if their HCF is :
(@) 2 (b) 3 € 0 (d) 1

PART - 11/ ILb‘«/.l;

5x1=5 PIT IS N
WKG, S hat ) KUzl

ug’ﬁ%xzwr - 10

JeKIGpy dby +ha) 3,

WG, w2 - dudo?

JLET 1+2r - IV

Match the following :

16. Area of quadrilateral - % h(a + b) sq. units

17. Perimeter of the sector - %;O X 2 r units

18. Area of trapezium - % d(h; + hy)sq. units
19. Length of the arc - mr? sq. units

20. Area of the circle - [+ 2r units

[ gtg‘ / Turn over
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14

15

16

A7

18

19
20



5204

PART - III /TII-&4

10x2=20 L E Sl s M S S5l

Answer any ten of the following :
Lot (i) £ [-23)
I U2 11
Subtract (—2%} from (—42]

e AN 1004 S et

Show that 1944 is not a perfect cube.

7841 G GB35 }(:fu'zu/*

Find the square root by prime factorisation method : 784.

P27 SR L E S e

Factorise the expression using identity 1> —27.

¢ e buhule e 75 o Gl Sb

The sum of three consecutive odd numbers is 75. Which is the largest among them ?

oAl S S T Bl S0/ 72,00,000 2 5:£23,00,000 =f JISULELL]
&

If a car is sold for ¥ 2,00,000 from its original price of X 3,00,000, find the percentage for
decrease in the value of the car.

LIS 15 et uh i J:{“J(wa Sedus 2 s 40 4£L/J5W.,gdﬁ 15
"d"

If 15 men take 40 days to complete a work, how long will it take if 15 more men join
them to complete the same work ?

-« 14 mm F_idsl 50 mm éUJJJLJé{WJJW@

Find the area of a sector whose length of the arc is 50 mm and radius is 14 mm.

21

22

23

24

25

.26

27

28
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¢ Km,)cfuﬂgnwgffuﬂ-+&@éé4d;&J < 16‘~,u:;i;/q,vgf/:uig 20 L1 .29
A 20 feet ladder leans against a wall at a height of 16 feet from the ground. How far is
the base of the ladder from the wall ?

L Z P QR PREFES 30

P
x+1
7
Q x R
In the figure, find PR and QR.
P
x+1
7
Q X R
 Z e B
U~ ABC &t
A
P E
B D C
el ()
<Lus (i)
Fill in the blanks :
In the triangle ABC,
A
P E
B D C

(i)  The angle bisector is
() The altitude is

[ gtg‘ / Turn over
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3 5%
JEJJJL—JV 5%

LB37F 10% ﬁ
SFr 10% L)
J»JTJM 20%

LB 5 6U7E 20%
4’ 30%

5% Litter
5% Off shore oil
10% Industrial waste water A

10% Maritime transportation
20% Air pollutants

20% Farm run off

30% Sewage

Write any four points from the given pie chart information regarding pollutants entering
in the oceans.

e JSut s (Ut ) Pl blie ettt 26 L sl

215 | 200 | 120 | 350 | 800 | 600 | 350 | 400 | 180 | 210 | 170 | 305 | 204
220 | 425 | 540 [ 315 | 640 | 700 | 790 | 340 | 586 | 660 | 785 | 290 | 300

The EB bill (in ) of each of the 26 houses in a village are given below. Construct the
frequency table.

215 | 200 | 120 | 350 | 800 | 600 | 350 | 400 | 180 | 210 | 170 | 305 | 204
220 | 425 | 540 | 315 | 640 | 700 | 790 | 340 | 586 | 660 | 785 | 290 | 300

~ZEp HCF 6 80 1 36 nd S5 28 551
Using repeated subtracting method find HCF of 36 and 80.
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PART -1V /TV-2.4
8x5=40 _E S b e S S5

Answer any eight of the following :

_E e 6 Lypnd _% 2l _1—17 35
Find 6 rational numbers between ;—17 and _ig
2= 8es 36
9 X7 x2 XSZZX R (B-144-245-3° (i)
Evaluate :
i (B 1+4°2+53)° (ii) 92}:;#

PG 3:2 LU AU A i e blecmlide 5 = A8 A5 37
S fnS

At present, Thenmozhi’s age is 5 years more than that of Murali's age. Five years ago,
the ratio of Thenmozhi’'s age to Murali's age was 3 : 2. Find their present age.

—x 10% S 52220 S NN 3G SN Janra 847 cm Qi seszrdasncdl 38

The present height of a tree is 847 cm. Find its height two years ago, if it increases at
10% p.a.

-JLA alu/“d/u;% -uj‘L/((d/l:d/@;’Juu-djé//uf(jj 9 sl 12 7L rgug Bus/lA .39

¢ s

A and B can do a piece of work in 12 days and 9 days respectively. They work on
alternate days starting with A on the first day. In how many days will the work be
completed ?

~EA0 60w U I 320 Gpenl ey Pard S0 2 4&)’%( 8,000 1 .40

Find the rate of interest if the difference between C.I. and S.I. on ¥ 8,000 compounded
annually for 2 years is < 20.

[ gtg‘ / Turn over
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PN SO S
B | B | af | SO | JEE | e
6% 20% 24% 46% 3t
Draw a pie chart for the following information.
Ocean Pacific | Atlantic | Indian Arctic | Antarctic
Water 46% 24% 20% 4% 6%

41

42

-é&fﬁﬂ(}?@iﬁm -DS=15cm s BC=72cm « 767633z S <% AABC

A
15|cm
B D C
72 cm
In AABC, S is the circumcentre, BC=72 cm and DS=15 cm. Find the radius of its
circumcircle.
A
S
15[cm
]
B D C
72 cm

L G HCF 6t 3enind Sz SE i
26 41455 (i)

256 1392 (i)

Using repeated division method, find the HCF of the following :
(i) 455 and 26
(i) 392 and 256
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; é(#@w;fcm%ﬁsgéq_) 44
D

R C

8m
10|m
gl 8m g

Find the area of the irregular polygon shaped fields given below.

oy
@)

10|m

U St e Ui e b U S 5 g E i L Fsin L 35em 45
&

X3

A circular shaped gymnasium ring of radius 35 cm is divided into 5 equal arcs shaded
with different colours. Find the length of each of the arcs.

Z - QeSS b 06 3 m BN Lt Sl 0L 15 mx8m 46
(w=314)-FZ K ES D i o
In a rectangular field which measures 15 m X8 m, cows are tied with a rope of length

3 m at four corners of the field and also at the centre. Find the area of the field where
none of the cow can graze. (w=23.14)

[ gtg‘ / Turn over
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PART -V /V_&ul
2x10=20 s &2 Fm e f 50

Answer the following questions :

ZE=90° 4 EA=6cm, AS=4 cm, SY =5 cm, EY =45 cm (% EASY §7b ol (a)
A S e L U St
[
S L 2t ROSE o fle RS=8cm 4/ RO=5cm  (b)
(a) In Quadrilateral EASY, EA=6 cm, AS=4 cm, SY=5 cm, EY=4.5 cm and

ZE=90°. Construct the quadrilateral with the given measurements and also find
their area.

OR
(b) Construct a rhombus ROSE with RO=5 cm and RS=8 cm. Also find its area.

_“é{i}ug( y=x—4 (a)

4
: éﬂ;:}.,g&”go?’”dﬁ'@ﬂ (b)

6 | 5| 4| 3| 2| (m)He,
36|25 16| 9| 4 (cm2) &

¢ S gy

(a) Draw the graph of y=x—4.
OR
(b) Draw a graph for the following data :

Side of a square (cm) : 2 3 4 5 6

Area (cm?) : 4 9 | 16 | 25 | 36

Does the graph represent a linear relation ?

-00o0-
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48



No. of Printed Pages : 11 5205

Register Number

9|Mlellwiev / SCIENCE

( SO wHmID pmigle el / Tamil & English Version)
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SPleyemrae : (1) ey elamssErhd sflurst udeurd o dqrergT ereamLgamend
sflurisgs Camerera]b. s&HLLS el GammulmLller, s
sansrentiiurerilb o | arnguwirgsd Csfelssean.
2) Beob deg smUY owulamar LIHGCL aWgaFDHELD
Sl &5CHMg(HeusH@D LweTUhgs CouaT(hd. LILBISET eUaTeUSD S,
Quendléd LweTU(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - I/PART - I

9lfley - 1/ SECTION -1

Qar@ssiul(Herer wrHm elengealed WD gHymLw edenLamws
CampOshdss GOUILHLer el ulamanyb CFisg 6r(psa]w. 15x1=15

Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

1. oursamsefler Werarl & o qurst LwaTUHSSLILHD < lg

(1) G <l (<) Gl g

(@) swser 2ylq () @Qaeunmled ergiadlerena
The spherical mirror used as a rear view mirror in the vehicle is

(a) Concave mirror (b) Convex mirror

(c) Plane mirror (d) None of the above

[ Sl / Turn over
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2
glrau Hleneoudladlmmbg S Hlenevd@ wrmib HlspeinE _ ererm Guwi.
(1) ugmIsLISED (<) Geflfeisgd
(8) eonge () Use
The process of converting a liquid into a solid is called
(a) sublimation (b) condensation
(c) freezing (d) deposition

MRI eremuigen eflfleurgsid :

(1) Magnetic Resonance Imaging
(<4, ) Magnetic Running Image
(@) Magnetic Radio Imaging

(fF) Magnetic Radar Imaging
MRI stands for

(a) Magnetic Resonance Imaging
(b) Magnetic Running Image

(c) Magnetic Radio Imaging

(d) Magnetic Radar Imaging

AMNCurtleefs erilQummer Ceaflsg meussliL(HE DG

<) Semm Geuliiblenaoudled

(

(<) @GrpBs Cleuliubleneouded

(@) Wss Ganns Ceuliubleauie
() s $ls Ceuliubleneoulley
Cryogenic fuels are stored at

(a) room temperature

b) low temperature

(
(c) very low temperature
(

d) very high temperature



Yemrem ereoTLig) @6 DL THTFD G L.
(1) Camgqwid FooGuL

(=) Cemgqwid @&Germeny(h

(@) srodwud GGarmeny(

(rF) Gemguwid HGrmenwo(®

Brine is a concentrated solution of

(@) Sodium Sulphate

b) Sodium Chloride

(b)
(c) Calcium Chloride
(d) Sodium Bromide

Car erariu(heug) 6T ?

(1) &8lgam (<) empLyger

(@) sFeour (FF) smrUeT-enL -, 560 (h
Which of the following is known as azote ?

(@) Oxygen (b) Nitrogen

(c) Sulphur (d) Carbon di oxide

Bflen BIrhsT &iqQTSS6Tenlng@d STIaRTONS @)(HLLIEna ?
(1) gCuL(hsar wHmIbL GGarmeny(h

(<) grasaer

(@) srruCer wHmID eu-sTTuGer

() seophglater Wmn ClummeTseT

Permanent hardness of water is due to the presence of

(a) Sulphate and Chloride
b

(b)
©)
(d) Other soluble particles

Dust particles

Carbonates and Bicarbonates

5205
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8. &pssav_aupdled B sevrsalle WETISmnss SLSgialg)

(<=1) Sidleod (<) sy

(@) <dleod WwHmID STFD (FF) o iy

Aqueous solution of conduct electricity.

(a) acid (b) Dbase

(c) acid and base (d) salt
9. I esreliler STeur 2 L e eTam HMP&SLILIHFIMS).

(1) sam(® (<) sraven (@) Qe () Geur

The plant body of algae is called as

(a) stem (b) thallus (c) leaf (d) root
10. AL (N&ET D ENEFWITSHENGL.

<) GameTul_enL HMILD s
<) PREISTE HMID LB
@) GuegrenL_ LOHMID WeTenL 6(h

—_~ o~ o~~~

) Spsren HMD Goegmen
joints are immovable.

a) shoulder and arm

b)  knee and joint

c) upper jaw and skull

d) lower jaw and upper jaw

11. vl rewtl sreurgdler Ceurpigdasaflery sreriiL@bd ursefuw :
() ewswCarm UMEleMNum (<) SiemnSernm
(@) BrevLms (FF) eorGamiwibd
bacteria lives in the nodes of pea plant.
(a) Cyano (b) Anabeana
(c) Nostoc (d) Rhizobium



12.

13.

14.

@m GHUELL ugdule sremliuBb STeuFhiIGer

S@P&sLILI(H&lermen.

(él) oooUWGmlT (%) oool'JCgmlTU—IT
(@) o 6mepiT @erTmhigeT () <iflgreneneu
The plants found in a particular area are known as

(a) Fauna (b) Flora

(c) Endemic (d) Rare

ST GTETLIG) D6TE <GLD.

(1) SigliueL (<) glevent fleva
(@) eulfl () Gamped sribHs
Time is a quantity.

(a) Dbase (b) supplementary
(c) derived (d) professional

urgresden Gmui®

(=4) Ag (=) Hg
(@) Au (fF) Pb
Symbol of Mercury is :

(a) Ag (b) Hg
(c) Au (d) Pb

SEIHL 2 6 g

(1) Average (<) Sum
(&) Min. (FF) Max.
function is used to calculate the total of given set of values.
(a) Average (b) Sum
(c) Min. (d) Max.

erarm FriL Gesrhsstul L wHuysealler samlhs CsTansamuis

5205
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Ylfley - 2/ SECTION -2

Camgl L QL hisemer BHlrlils. 10x1=10
Fill in the blanks.
16. pllwe o wisH flenw SqliLienLwnss Garenr(h GlFweuBhHmg).

Hydraulic lift works under the principle of

17. &Cemfl WBLLIT ereyrm FTged &0 SeTdsL LwatL(hiEng.

A calorimeter is a device used to measure the

18. gedluflen &mdl oidlreysartie D& FTTHSS).
Pitch of a sound depends on the of the vibration.

19. Qupburearenwbwrer 2 Carshisalear 2 m@Hame HCarsnisate o (,d
Hlepeen el

Melting point of most metal is than non-metal.

20. @peru FCrdlu @Y s s wrHmb Hlspey ereiL(HILb.

The process of conversion of iron into hydrated form of oxides is called

21. 2 HuSS eumy ererLg) LHMILD < HWaIDHOIET He0EnEWLITELD.
Producer gas is a mixture of and
22. eremmgl Feuliyl ursluledlmngl er(&suuBEnG.

is obtained from red algae.

23. @uanr(h eTbLSET FHSSGLD @)L LD T AMPSSLILIHSDS).

The place where two bones meet is termed as

24. oMHOUTE QL SH6 e STeursdler GlLwim

is a plant growing in a place where it is not wanted.

25. aam GOUIH eT(pdgHssmer LWaTUBSFHID &SHTsSHe @)L b
QuUMIS DG

The character used in text formula is



26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

QUT(HSS5.

QeuliLibleney
SmOlrDd

eBLremer HlanoliLbhss)

urgleflum

@ efler Wlegserger
< Carr(® sliser

<, et Crmegen
UEeTUITLIL &6

SHig BT

shgrueTen Chagered LITTs
Close Option

Match the following :
Temperature

Copper

Nitrogen fixing Bacteria
Two similar charges
Anode rays

Androgen

Closed curves

Hard water

Sundarbans National Park

Close option

7 5205

Slfley - 3/ SECTION - 3
10x1=10
- QLevl_GLmevle Fmer
- By lenss Carhger
LD
- allpm o uTensseT
- G @ eUmISTETLD
- uarfiggreer apBHiEed
- Garelevlesr
- @atep NL( e eflesEwh
- ayGarbuwid
- e sLger swmilgse

- @eflrEs womibd euliugsler erey

- Testosterone

- Magnetic lines

- Stomach ailments

- West Bengal

- To close the work sheet
- Gold stein

- Repel each other

- Rhizobium

- Making electrical wires

- Measure of hotness or coldness

[ Sl / Turn over
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Ylfley - 4/ SECTION - 4
il eumgengseafleo aflenweflsseab. 5x1=5

Answer the following in one or two words.

36. G Yulier Lwersaild Caaid @aTanmsd S(Hs.

Give any one application of a concave mirror.

37. GummGerrardle Wlengiser @@mULm sardwll LweTUmn smedl wrg ?

Which instrument is used to detect and measure electric charges ?

38. @IB&S SHNF HET LITEHEEWLI @15@)Lorrés@a§]g)51 ?
Which muscle makes the pupil of the eye wider ?

39. meanuiflgeer sramdamiqwl Gummerter ClLuwim ereme ?

Name the instrument which is used to observe micro organisms.

40. fflar syarsgarmweaw BsEh wopsaild gCsab Qrar@h wepseamer
TGS

Mention any two methods for removing hardness of water.

L@&3 - I/ PART - II

G LSF NaTEsEh6E S(HEHSLNS ellalwWalldEse, . 10x2=20

Answer any ten of the following questions.

41. e sdler erenl 1000 N erafled 50 G&.152 uFligenLw FerddHled SHevadlemmed
THLUBD A(PS5SSNSS HenTsHdl (Hs.
A stone weighs 1000 N. Calculate the pressure exerted by it, if it makes a contact with
a surface of area 50 cm?.

42. DEIGHD TETDTE) eTenen ? T(HSSHIESTL(H S(HsS.

What is Tarnishing ? Give an example.

43. shuyd Cur@euser epod aThg CHrenws SHEHHOMD ?

Which diseases can be prevented by vaccination ?



44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

Max( ), Min( ) gmiysatlen LWeT&SeT wrenal ?
What is the use of Max( ) and Min( ) functions ?

LOlGIT(LPEOITLD LL&i&HE) GTEIMTED GTeoment ?

What is electroplating ?

sanbleu il FHLSSmeT — cUanTIIMISSHE]|LD.

Define specific heat capacity.

SlgsCamg L Ll L gaflwnhiseaflear Qamardpamears Srems.

(<=1) NaCl (=) MgCl,

Find the valency of the element which is underlined in the following formula.

(a) NaCl (b) MgCl,

SENG BT GTGITMTED GTEINET ?

What is ligament ?

LUUmL s — GOILL euanrs.

Define Menarche.

Siemm (pa6url erammmed ereer ?
What is cell address ?

QFLIDNES STHSD eTaTDmed cTennen ? eT(HSSHSSTL_(HNSET H(H.

What is artificial magnet ? Give examples.

Lms 2 &6s Biler uarys6r eraneuCugd @) TaiTiy enas 6T(PGIs.

Give any two characteristics of Potable water.

BIDEISTL Iq GTEMMTE 6TEmeT ?

What is an indicator ?

5205

[ Sl / Turn over
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54.

55.

56.

57.

58.

59.

10

@eeliuriile Cgeflgse erarmme ereer ?
What is Foliar spray ?

Foulil 576 LS5SHS5S6 HeTenLoSeme 6T(LpS)Is.
Write the advantages of the Red Data Book.

u@g - III / PART - III

Slfley - 1/ SECTION -1

YerreumeuameupdH@ UL LD euenFhgl, LTSBISM6Ts &DHése,L.

Answer the following diagram questions.

wseflemm-adler LLID cuenplhgl, LITSBISMETS GN&s6,LD.
Draw and label the parts of Euglena.

cdlflwumrer LLD euenfhgl LMSBISM6TS &DH&sa L.
Draw and label the parts of Virian structure.

lfley - 2/ SECTION -2
YemeumLd elammss(@hd@ ellenL wefl&se|m.

Answer the following questions :

(=) suasrrhseaier euamssemer LM alleufdseaLd.
S|V

(<=4) umevsed ellFlenwids saml, D e LWLTUT(HSMETS H(Hs.

(a) Explain the different types of clocks.

OR
(b) State Pascal’s law and mention its applications.

2x5=10

6x5=30

(<=1) Blene Wlen&TLIg eTammTed eTemmen ? 48 GlFwOUHD (pepmenit clemd:@s.

S|V
(=) yellssmbsd LDHl GOILGCILPSS.
(a) What is electroscope ? Explain how it works ?
OR
(b) Write a note on Earth’s magnetism.



60.

61.

62.

63.

11

(=) e CaorsnsEps@hd ACOTsSEsERsEGL o2der  GCaumurhaamen
L aimentlL(h&S15.
3|6V
(<)) dle wenpuden alleneTe SHeT WTemel ? ASMET eTedeumm &(H&STD ?
(a) Tabulate the difference between metals and non-metals.

OR
(b) What are the effects of acid rain ? How can we prevent them ?

(1) sBIrmueT-1 6 FTHEMEEHET WTEne ?
S|6060F)
(<) BG ermr aurpelled Bl Cumib BHBmOWTESD 6l arseamer
ollemsGs.
(a) What are the achievements of Chandrayaan-1 ?
OR
(b) Explain the neutralization reactions in our daily life.

(1) wmSgIeus genmuiler mewramuiflger ereueurn LwerU(HSlemmer ?
S|6060F)

(<)) wallg 2 L alled eraibLid gl lger CFwouThEeT wrenel ?

(a) How micro organisms are useful in the field of medicine ?

OR
(b) What are the functions of skeleton in human body ?

(1) Ceuermenr CFwepennsemer eilalflssaLd.

S|6060F)
(<) &l APber edlenearajsaner 6lleTd:@s.
(a) Explain the agricultural practices.

OR
(b) Explain the effects of deforestation.

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

15x1=15

fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART -1/T.2.|
SECTION -1/ 1-*%

t_ iz e A2y Susive ez i £ 2

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

e b d T Il L TR 1

pd

#lw (b) £ ()
e o (d) AT ()

The spherical mirror used as a rear view mirror in the vehicle is

(a)
(c)

Concave mirror (b) Convex mirror

Plane mirror (d) None of the above

[ gtg‘ / Turn over
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et et 2
F 2 @
$bds (@) S ()

The process of converting a liquid into a solid is called
(a) sublimation (b) condensation
(c) freezing (d) deposition

Magnetic Resonance Imaging (a
Magnetic Running Image (b
Magnetic Radio Imaging (c
Magnetic Radar Imaging (d

MRI stands for

(a) Magnetic Resonance Imaging
(b) Magnetic Running Image

(c) Magnetic Radio Imaging

(d) Magnetic Radar Imaging

< LU e 4
{cu'/ /.?/)ia / (@)
L= i?u{ (b)
/?;;/!/,7/; ﬂ/ =/ (0
L7 :.wé'_ﬂ:a/. (d)
Cryogenic fuels are stored at
(a) room temperature
b) low temperature

(
(c) very low temperature
(d) very high temperature



3 5206

_‘LJ}H)G/K Ju 5

i (a)
Kkl (b)
LKL (o)
Claafiy (d)

Brine is a concentrated solution of

(@) Sodium Sulphate

b) Sodium Chloride

(
(c) Calcium Chloride
(d) Sodium Bromide

CetpeiLe S 6
Gt () FT (@
AT (@) » o
Which of the following is known as azote ?

(@) Oxygen (b) Nitrogen
(c) Sulphur (d) Carbon di oxide

‘.‘L(—,?)JU()}?}”J u;d/lﬁg)‘;'?d& 7
Kkasic (a)
=L (b)
ﬂjﬁj@/)’ﬂ/g (o)
=ik Fh (d)
Permanent hardness of water is due to the presence of
(a) Sulphate and Chloride
b) Dust particles

(
(c) Carbonates and Bicarbonates
(d) Other soluble particles

[ gtg‘ / Turn over
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Aqueous solution of

e SO HTE
UL (b) 22 (a)

L (d) L2l ()

conduct electricity.

(a) acid (b) Dbase
(c) acid and base (d) salt
< el deed
Z () % © SE () s (@
The plant body of algae is called as
(a) stem (b) thallus (c) leaf (d) root
—glndFtnl
st (b) As2 i (a)
G2 (d) SyEMzss ()
joints are immovable.
(a) shoulder and arm (b)  knee and joint
(c) upper jaw and skull (d) lower jaw and upper jaw
-uj;/uﬁ&l;iéggi}‘(f’i
@z (d) Jei (@ bt (b) b ()
bacteria lives in the nodes of pea plant.
(a) Cyano (b) Anabeana (c) Nostoc (d) Rhizobium

10

a1
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Gt sy d i bz | Sk AE 12
—it (d) Lk () b (b) £36 (a)

The plants found in a particular area are known as .
(a) Fauna (b) Flora (c) Endemic (d) Rare

— iy 13
Sk (d) 7 © & o) SV (@)
Time is a quantity.
(@) Dbase (b) supplementary (c) derived (d) professional

: c‘-yw&_g 14

Pb  (d) Au () Hg (b) Ag ()
Symbol of Mercury is :
(@) Ag (b)y Hg (c) Au (d) Pb

ce b2 L A SSerd s e G 15
@) L © & (b Lol (a)

function is used to calculate the total of given set of values.
(@) Average (b) Sum (c) Min. (d) Max.

SECTION -2 /2_ %
10x1=10 PR

Fill in the blanks.

Py Sy < 0%, 16

Hydraulic lift works under the principle of

e b 2L F S TR a7

A calorimeter is a device used to measure the

[ gtg‘ / Turn over
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-‘LV%{JQJ'L d‘?gi/&)bl’

Pitch of a sound depends on the of the vibration.
—c b uﬁé,.u»iu?miﬁﬂfbﬁ(u?w 1
Melting point of most metal is than non-metal.

_ < b7t S VL ST L

The process of conversion of iron into hydrated form of oxides is called

o

na@my;!’( ! ‘ﬁ’//&}}’

Producer gas is a mixture of and

et Poe fit

is obtained from red algae.

Wit o

The place where two bones meet is termed as

st e ASIUG e Ut LBtz byt

is a plant growing in a place where it is not wanted.

e AU et bk

L

The character used in text formula is

18

.20

21

22

23

24

25



10x1=10

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Match the following :
Temperature

Copper

Nitrogen fixing Bacteria
Two similar charges
Anode rays

Androgen

Closed curves

Hard water

Sundarbans National Park

Close option

[ gtg‘ / Turn over

SECTION -3 / 3- %

O & -
st
Sl ee -
JedHs -

S ELE -
S

£ Zf»’/g /5,«{ f -
Eil -

okl -
FedLetew -

- Testosterone

- Magnetic lines

- Stomach ailments

- West Bengal

- To close the work sheet
- Gold stein

- Repel each other

- Rhizobium

- Making electrical wires

- Measure of hotness or coldness

5206

: é.fﬁ;@: RIO%)
=72 26
st 27
A7 P 28
ASn 29
Silied 30
Skl 31
LB 3
o 33
I Fs 34

—E1F 35
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SECTION - 4/4- %

5x1=5 ~ SR UM LI Ul f 3000

Answer the following in one or two words.

Give any one application of a concave mirror.

e OIS T

¢ ‘gt‘l?gJWUTVu/“iéfgu(uyLéf.

Which instrument is used to detect and measure electric charges ?

Which muscle makes the pupil of the eye wider ?

_e bt TLnd b Yol Doaieel o w208

Name the instrument which is used to observe micro organisms.

_’g.bi&/»&/ LL/?»/@JM&}Q

Mention any two methods for removing hardness of water.

PART - II/1I-&.{

10x2=20

Answer any ten of the following questions.

_éJb’Jﬁéu’)(fKLUﬁJ:;’@n

st 553 50 cm? bk e LBIESLL bl e e 1000N @ik L]
A stone weighs 1000 N. Calculate the pressure exerted by it, if it makes a contact with

a surface of area 50 cmZ.

What is Tarnishing ? Give an example.

~Ea el ¢ Y B

37

38

39

40

41

42
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¢ PR Sl 43

Which diseases can be prevented by vaccination ?

¢ < I Eeteld Min() o Max() .44
What is the use of Max( ) and Min( ) functions ?

C VLT 45

What is electroplating ?

_“é..{ag/.’.d/(fj;u!/ =rlle 46

Define specific heat capacity.

_Eebea Sl b is 47
MgCla (p) NaCl  (a)
Find the valency of the element which is underlined in the following formula.

(2) NaCl (b) MgCl

¢ ‘al.f@/@ 48
What is ligament ?

A G a0

Define Menarche.

¢ < UTIIGE 50
What is cell address ?

e s R 51

What is artificial magnet ? Give examples.

[ gtg‘ / Turn over
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Give any two characteristics of Potable water.

¢ e (AR il

What is an indicator ?

P’ ﬁg/bf.’/y;’
What is Foliar spray ?

_gclfuiz.uf&wé/

Write the advantages of the Red Data Book.
PART - III/II-&.4

SECTION -1/1-*%
2x5=10 Szl = U6 50

Answer the following diagram questions.

_ggrt ZuPl gL BS way

Draw and label the parts of Euglena.

_étéuf{wﬁwwau&g

Draw and label the parts of Virian structure.

SECTION - 2/2-¢
6x5=30 NS eS| 18 $ T
Answer the following questions :

ECFSNL AL ()
[
Al Z s L K6 L (b)

(a) Explain the different types of clocks.
OR
(b) State Pascal’s law and mention its applications.

52

.53

54

.55

.56

57

.58
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_‘QV/?KC/JZ)I’Q.&LM" ¢ ‘Llf.;}cl}}gl (@ .59
b
g, Ael g )

(a) What is electroscope ? Explain how it works ?
OR

(b)  Write a note on Earth’s magnetism.

-’gb.dugdeuy/)éu?lwi/:lu;w (@) .60
b
¢ GELL A L WL FAYE  (b)

(a) Tabulate the difference between metals and non-metals.
OR

(b) What are the effects of acid rain ? How can we prevent them ?

¢ e UL 1oylz (@) .61
b
_ECAScwsd St S ()
(@) What are the achievements of Chandrayaan-1 ?

OR

(b) Explain the neutralization reactions in our daily life.

C LA el b (a) 62
b
© JSIVEZ Lm0 (b)
(a) How micro organisms are useful in the field of medicine ?

OR
(b) What are the functions of skeleton in human body ?

[ gtg‘ / Turn over



5206

12

Explain the agricultural practices.
OR

Explain the effects of deforestation.

-00o0-
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SPleyemraet : (1) Swarsg elamssErhd sflurst udeurd o drergr ereamLgamend
sflurisgs Camerera]b. F&HLLS el GampulmLlder, s
sansrentiiurerflib o | arnquwirgsd Csfelssea .
2) Beob deg smUY owulamar LILHGCL aWgasDHELD
345G (HeusH@D LweTUhgs Ceuar(hd. LILBISET eUanTeUSD S,
Quendléd LweTLHSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - 1/PART -1
lfley - 1/ SECTION -1
Qarhssiul(erer wrHm elevLseiled Wsa b ghmL alnLamus
CambOsH&ss GOHUILHLer alenulameanb CFrsgl er(pse]w. 10x1=10

Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.

1. Geugy mpr&flwrt eriiu@gludler rrewtl <eumt ?
(S1) BrS@TLYFLD (<) Saudlfl (@) Housmiens (FF)  elmLILITES
Velu Nachiyar was the queen of :
(@) Nagalapuram (b) Sivagiri (c) Sivagangai (d) Virupachi

2.  suefl wpmbd Cared CSTHHFTMOSET SrarTlL(Hb PSS @LLD :

(1) Lubumw (<) sremy ™ (@) AswsTUTS  (FF) ombblagl Lr
The woollen and leather factories became prominent in .
(a) Bombay (b) Kanpur (c) Ahmedabad (d) Jamshedpur

[ HpLliys / Turn over
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3. &8l eraid pevL(pem RIS T

(<=t) 1827 (<) 1828 () 1829 (FF) 1830

The practice of Sati was abolished in the year .

(a) 1827 (b) 1828 (c) 1829 (d) 1830
4. 2 W9flerl LigoRISET urenmaatled &mewrliu (&l esmmerr.

(=) Liga|l UTED&ET (<) SU LTenmSET

(@) e muwrdlwll Lrennsaer (FF)  <fquimpll LTenm&er

Fossils are found in :

(a) Sedimentary Rocks (b) Igneous Rocks
(c) Metamorphic Rocks (d) Plutonic Rocks
5. Gumfler sryentors el UMD Gl46lLwTe] &8 FTTHSG.
(1) Sirdlwed (<=1,) &Sertlwe
(@) GummerTgmyb (FF) &eps MHMILD SHEOTEFFTFLD
War is one of the causes of human migration.
(a) Political (b) Demographic
(c) Economic (d) Socio culture
6. yaluur swurfliy wpeom @HSEH eswmEsd Lr_Libfley G LD.
(1) @Lefwed (<) yeliuLefwe
(@) QuperswenoliL] (FF) w&sailwe
The subject which deals with map making process is :
(a) Topography (b) Cartography
(c) Physiography (d) Demography

7. Gsflw walls 2 Mepnser el $MmenDIISLD {enbgIeTer @L LD

(1) yglGLevad (<) peu () CasTsssT (FF) A&WLSTUTS
The Headquarters of the National Human Rights Commission is at :

(a) New Delhi (b) Mumbai (c) Kolkata (d) Ahmedabad



10.

3

@I sl umLseailer saneamng serus
() BlyWrss semavour

(=) 978D SnEFT

(Q) simans Gl4TEHS SaeuT

() Y@ wrreasd

The Supreme Commander of the Armed forces is our
(a) President

(b)  Prime Minister
(©)

(d) Field Marshal

Vice President

GUBISIL LIGRTLD 6TEmLIg)

() arCarene (=),) euenrey

(@) sLem wOmID UHD L e e () Chamml amarsgib
Bank Money is :

(@) Cheque (b) Draft

(c) Credit and Debit cards (d) All of the above

‘@ndwreder Curgsgiemm Hnelamaafler shang
(=) Cuyrdlflwm 9.8, wanerGarmdev

(<) gouaniare Crm

(@) L. &fl. dlmeigemreprsdl

(FF) 7&SeT L

The father of public sector undertakings in India.

(a) Prof. P.C. Mahalanobis

b) Jawaharlal Nehru

(b)
(c) Dr. V. Krishna Murthy
(d) Ratan Tata

5207
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Slfley - 2/ SECTION - 2
Camgl L @)L higemer Hlrliys. 10x1=10
Fill in the blanks.
11. 90reps Hpsdnbdlwu Bimeierd ererueUrmed Hlmeliul L g).
The French East India Company was formed by

12.  evenmid Cguiene Hlimeuard Coromiedssiul L o6

The Assam Tea Company was founded in

13. @pdwredler @@Ll ureng CUISGarsg ANWPSILGSSILL L. 26

The network of railroads in India was introduced in

14. & emeyater Geuli Hlevavenit @enamrs@d sHLImeTEGST(H
are the imaginary lines which connect the same temperatures of
different places.

15. Selyeurgid QL MES @ T(HSSHESTLLTGLD.
Terrorism is an example of hazard.
16. aumdls glewn ererg) QUTHETTSTT BHLGUIg&HEN&UITELD.
Banking is a economic activity.
17. @bSHu rdlweenoliyg s b Gquwflenenw WL HID aupmIGH .
Our Indian Constitution provides for only citizenship.
18. Bdlwerpd @pbHwrellen Lipenwwirer BELETDD 4 @Lb.
The High Court is the oldest High Court in India.
19. Wleeran eumilenw CTETMILD SENLPEHEMLD.

Electronic banking is also known as

20. GurgsgiemD eTeTLF CrréEsd 2 el g

Public Sector is on motive.



21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

QUT(HES)5.
Lmiregledlms

HlECsTCar Csmerrig.
@ &

Gl

it &5EEs

sLo fo oifiiay
YT S S 6D
&mawtl U168 UL k&6l
LD T63T& Q. T

CaLlLiLy

Match the following :
Darjeeling

Niccolo Conti
I-Tsing

Delhi

Condensation
Oceanic Earthquake
Pinnacles

Cadastral Maps
Manekshaw

Savings

5 5207

Slfley - 3/ SECTION - 3
10x1=10

@TETLTD LUSSHIT Qi
FeoTmLo|

SEOTGTTIDL| LITENM SITEH0TS 6T
curfl eSSl

@ rraged

Dene eUmidlL_Ld

ot d@ep

BIsTe| gefliss aupLoTed
@&smedlw Liwenfl

GL&mIG6T

Bahadur Shah-II

Tsunami

Pointed Limestone Pillars
Taxation

Field Marshal

Hill Station

Chinese Scholar

Consumer’s disposable income
Italian traveller

Clouds

[ Hpliys / Turn over
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U@l - 11/ PART - II
Slfley - 1 / SECTION -1
eureonm| / HISTORY
sTemeuGuIen|d HIesI@, ellanmasEnd@ WL (P e weflssab. 4x2=8
Answer any four questions only.
31. @rwsggieurfl wevmuder SpLiLg smmser wrenel ?

What were the salient features of the Ryotwari system ?

32. Qgeeud syanred Carlum@h uHml er(psis.

Write about the Drain Theory.

33. weell WrGgsmser sreoaflggiol BaETLLMD cuetTéslulld sallsgiel DTS
Qmbser. eren ?

Hilly areas were distinctive features of colonial urban development. Why ?

34. 9flliqeiy oyl Huller GUTg WSTTEL OTSTETD 2 6TeTL &GSl LIGSHEer wrenel ?

What were the regions covered in the Madras Presidency during the British Regime ?

35. Quamseilen pearGarmmgdnars Currmgw WpéHlw geaeurgeflen GLWLITSmeTS
G NIRIGE:S

Name the prominent leaders who fought for the upliftment of women.

36. goups Sevwgefldd Heweupenn L iquiedHis.

List out some social evils.



37.

38.

39.

40.

41.

42.

43.

Slfley - 2/ SECTION - 2
yeSlulwed / GEOGRAPHY

sTemeCIEID KBesIE cllammésEndE WL G el weflésab.

Answer any four questions only.
cuafloaTL_0d& STHM(LPSSLD CTETHTE) GTemmen ?

What is meant by atmospheric pressure ?

BSTOWIDTESLD GTEIDITE) GTeo6 ?

What is Urbanisation ?

QUTBETTSTT [BLGLIq &SNS ETEITMITE) 6TEITE ?

What is meant by economic activity ?

<, Crellwreilen HlagsCsrmm Gfleyser wrenal ?

Name the physical divisions of Australia.

HellliLL. jemenel — eUenILMI&EHe]LD.

Define “‘Map Scale’.

Camu®sgis : yeNsGsmer wrdfl whmb LeSlluL tb.
Differentiate Globe and Map.

Slfley - 3/ SECTION - 3

Slgeowuflwed wHMIL Glunmemgryw / CIVICS AND ECONOMICS
stemelCuienid @reser(n aleTés@rs@ WL  eflenLwaflésa]b.

Answer any two questions only.
eflg o Menser eremmmed eremen ?

What are Human Rights ?

5207

4x2=8

2x2=4

[ Sl / Turn over
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44.

45.

46.

47.

48.

Caslw urgiasmiy e Seudlwinreng). erem ?

Why is National Security very essential ?

uemsSler S| erermTed eremen ?

What is the value of money ?

Qurgis glevpseT GHlda Sm Gl eiers.

Write a short note on Public Sectors.

L@&S - I/ PART - III
stemelCienid gy m eflarmas@ns@ (I elen wef&se,b. 6x5=30
Answer any six questions in detail.
(=) @BHwur il aler Ceuerramend G -CwdmoNs WIHlLg eTlililg ?
360605
(<) sapdlrl CGumrmiLgdled Cuansefler Limidlepens seuwr_HluieyLb.
(a) India became an agricultural colony of Britain. How ?
OR

(b)  Trace the role of women in freedom struggle.

(1) %mACowT <l Huller Ep sl LD eleTéEs.
3|6V
(<=4) 1857 -=,1b er(h) Lyl Suller CoHraellGSTar STranbisamer 6T (Lpgis.
(a) Explain about the education under the British Rule.
OR

(b) What were the causes for the failure of the Revolt of 1857 ?



9 5207

49. (=) epools Qummlseflen ojgliumLuie Qgrfoshismer auamsliLhss)
oMlemsGs.
S|V
(<) wrys GMUEsET LHHILD Hearambiser @Ghss eflerd@s.
(a) Classify and explain the industries based on the source of raw materials.
OR

(b) Explain about the conventional signs and symbols.

50. (1) STHODUID 26T euanSSMeT(D LMD efleuflsseaLb.
360605
(<=4) AengGrallwmelen seflio euethiser GMsg edlfleurs er(pse]|b.

(a) Write about the wind and its types.
OR

(b) Give an account of mineral wealth of Australia.

51. (=) @BHur sang el Brhs@Eper 2 nael CobLbhsgeudle SHealerd
QFQggHmg). eriiig ?
S|V
(=) BES sreopufen kg LDD TLEIs.
(a) India focuses on improving ties with its neighbours. How ?
OR
(b)  Write about the role of Judiciary.

52. (=) Qurgs giempulen 2 mitiser umdl eflems@s.
S|60605)
(<) Calliy whmibd WeeH&EH&H@GD 2 dter GoumUTHSET Wrenel ?
(a) Explain the organs of Public Sector.

OR

(b) What are the differences between savings and investments ?

[ Sl / Turn over



5207

53.

54.

10

u@&d - IV/PART - IV
SLPHEVTL_D6USHEHHE STOGCHTH CUMTS.
(=) QueansEpssTar Cow W marTID ANDESILILL G
(<) Coausmsdl uflliLE FLLLb
(@) @bgl NsemeiseT MLDEMTF FL_L LD
() @pdur Guursrarg)
(2-) wrbleo wyEFrepLUILE FLLID
Draw a time line on the following.
(a) The National Commission for women was set up
(b) Devadasi Abolition Act
(c) Hindus Widow Remarriage Act
(d) India became a Republic
() The State Reorganisation Act

u@d - V/PART -V
Slfley - 1/ SECTION -1
SemeEHG NaTESHERSGD allenL_iat&se,Lb.
Answer all the questions.
@B auenTuL S SpsaTLauhans GHEsHe]Lb.
(1) urerigFGail

2.) SEhETaYT

Mark the following places in the outline map of India.

(a) Pondicherry
(b) Madras

(c) Bay of Bengal
(d) Kolkata

() Tanjore

5x1=5

5x1=5
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11

Slfley - 2/ SECTION - 2
2 608 eUMTLIL SFl60 SpsarL @)L hisemars @&Dlésa]w.
(1) udl9s QumRISL 6D
<) @B B
) 9edlien LisiTe

™) enSCradlwm

¥

) <0wh&ss p&du Brhser

(

(

(

(

(o6r) BemeanbLAES (penen
(eT) FaDTIM LITENELEGIILD

() eumsmer eflflGLrm

(&9) HICrl 1gemalgml weved Gt
(

@) GwselCsm
Mark the following places in the World map.

a) Pacific Ocean
b) River Nile

¢) Philippines

d) Australia

()

)  Cape of Good Hope

&
h) Bay of Bengal

Sahara Desert

~

(
(
(
(
(e)  United States of America
(
(
(
@

Great Dividing Range

Mexico

~ S~

\

-00o0-

5207

10x1=10
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Register Number

SOCIAL SCIENCE / a&ek‘)’

(Urdu and English Version / g\ ¢ Z/ﬁnlu/l )

[ 552,00 =3 100 : U5 ]
Time Allowed : 2.00 Hours ] [ Maximum Marks : 100

WIS AL e Pt e G S g L3l (1) sl
S L L i Sl L8 S e klemld @)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART -1/ I_.."«Jg
SECTION -1/1-%€
10x1=10 : _u.‘j”i,!ﬁ;éb’?ulf/(u’l/dg..«l}?d”/"uy’/cuﬁcay’ﬁJ)Qngé.)

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

-Ug/&’/d/ o gbdsoa
Gl (d) ¢ (o S (b) a8 (a)

Velu Nachiyar was the queen of :
(@) Nagalapuram (b) Sivagiri (c) Sivagangai (d) Virupachi

-ZM(/’G’{’/)’J}VJ LG/K&;}{.A'&:' 2

SaE2 (d) ATel (o) 56 (b) & (a)
The woollen and leather factories became prominent in .
(a) Bombay (b) Kanpur (c) Ahmedabad (d) Jamshedpur

[ gtg‘ / Turn over
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NV S PNV /A S
1830 (d) 1829 (o) 1828  (b) 1827  (a)
The practice of Sati was abolished in the year
1829 (d) 1830

(a) 1827 (b) 1828 (©)

rE b LUk % 4
UIGAEST  (b) Uids  (a)

UGET (@ Ui 3 (9

Fossils are found in :
(a) Sedimentary Rocks (b) Igneous Rocks
(c) Metamorphic Rocks (d) Plutonic Rocks

—e oLzl QUi 5
e (o) St (@)

S (©)

causes of human migration.

Féde (@

War is one of the
(d) Socio culture

(a) Political (b) Demographic (c) Economic

LT ASZ S 6

35K () 3 ()
dbs () U (©

The subject which deals with map making process is :

(a) Topography (b) Cartography

(c) Physiography (d) Demography



3 5208

: ujé'ﬁ/“ﬁjzﬂidﬁ"/&wﬁpd} 7
JolTel (d) S () s ) SdE (@
The Headquarters of the National Human Rights Commission is at :

(@) New Delhi (b) Mumbai (c) Kolkata (d) Ahmedabad

g dEL LT 8
s o) o (a)

Sui (@ wt Q)
The Supreme Commander of the Armed forces is our
(a) President (b)  Prime Minister
(c)  Vice President (d) Field Marshal
: %ﬂ‘f“—‘c 9
S35 (b) & (a)
Foir  (d) Shesime ) (o)

Bank Money is :
(@) Cheque (b) Draft
(c) Credit and Debit cards (d) All of the above

L OOV LB B S e 10
sz (b) S-S Ay (@)
teh  (d) S5 H15 ()
The father of public sector undertakings in India.

(@) Prof. P.C. Mahalanobis (b) Jawaharlal Nehru
(c) Dr. V. Krishna Murthy (d) Ratan Tata

[ gtg‘ / Turn over
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SECTION -2/ 2.

10x1=10 - e

Fill in the blanks :

v Firedd

The French East India Company was formed by

e F oL

The Assam Tea Company was founded in

HUVEIEY- JebU2 st s

The network of railroads in India was introduced in

e Zan UL e\ U b U

are the imaginary lines which connect the same temperatures of

different places.

—e JedidF Sl

Terrorism is an example of hazard.
-~ d/;’ Gbe LR
Banking is a economic activity.
,‘at’/ﬁ'/..:{,/? 32l
Our Indian Constitution provides for only citizenship.

-%sb//&%éjﬁ'—y/d/uu’)ﬂf d’«u’/&g
The High Court is the oldest High Court in India.

Electronic banking is also known as

Public Sector is on motive.

a1

a2

a3

14

15

16

17

18

19



10x1=10

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Match the following :

Darjeeling

Niccolo Conti
I-Tsing

Delhi
Condensation
Oceanic Earthquake
Pinnacles

Cadastral Maps
Manekshaw

Savings

[ gtg‘ / Turn over

SECTION - 3/3 -5

1-sly -

Sty -

OFL AL g ST -
s

S -

redily

GO
SIS -

Lyl -
s

Bahadur Shah-II

Tsunami

Pointed Limestone Pillars

Taxation

Field Marshal

Hill Station

Chinese Scholar

Consumer’s disposable income

Italian traveller

Clouds

S8z

dz

Z’Eéﬁ/d/
Bt L
=5

5208

21

22

23

24

.25

.26

27

.28

29

30
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PART - 11/ Tl
SECTION -1/1-*%
HISTORY/ f.t

4x2=8 ezl e 50~
Answer any four questions only.
¢ PPl B et

What were the salient features of the Ryotwari system ?

- 4@:;41&»&1/5

Write about the Drain Theory.

¢ U~ & SoL elor® M = FIGA 0TI S5y

Hilly areas were distinctive features of colonial urban development. Why ?

¢ A;;Jtéécu{uﬁ(f;?i{.u”uuﬁw:@udj b

What were the regions covered in the Madras Presidency during the British Regime ?

AL L /Juf lﬁLuﬁ&%tLui et

Name the prominent leaders who fought for the upliftment of women.

E e fSULGE

List out some social evils.

31

32

33

34

35
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SECTION -2/ Z-Lf“c
GEOGRAPHY/ I
4x2=8 il ey (G
Answer any four questions only.
¢ ‘L;ylfcfpéw’ 37

What is meant by atmospheric pressure ?

¢ < SUBLTYS 38

What is Urbanisation ?

¢ ‘L;ygcd/ﬁdb’bﬁ 39

What is meant by economic activity ?

-}J(tiuﬁﬁb&:g&/‘w 40

Name the physical divisions of Australia.

Ay ey Hom
Define “‘Map Scale’.

_E WG N a2
Differentiate Globe and Map.

SECTION - 3 /3-#5
CIVICS AND ECONOMICS / = \2besles 7
2x2=4 B DTSN E )

Answer any two questions only.

¢ S OUISE 43
What are Human Rights ?

[ gtg‘ / Turn over
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¢ e Unfenud BFYS 44

Why is National Security very essential ?

¢ eSS 45

What is the value of money ?

- 4@4}5{,@4 U SIE 46

Write a short note on Public Sectors.

PART - IIT / III-&{

6x5=30 e JEL i3S

Answer any six questions in detail.

¢ LTI F LS s ks () 47
[’
-éugufd}/éuf’fu:dﬂ)@%}y (b)

(a) India became an agricultural colony of Britain. How ?
OR

(b)  Trace the role of women in freedom struggle.

_“éyu,d*”lﬂ%ﬁuﬁndiw (@) .48
L
¢ el 2 SSK st 1857 (b)

(a) Explain about the education under the British Rule.
OR
(b) What were the causes for the failure of the Revolt of 1857 ?



()

(b)

_E A G S 2 §us Sy b
b
-ééﬁyiahl.bﬂu,/@’&b/

Classify and explain the industries based on the source of raw materials.
OR

Explain about the conventional signs and symbols.

I WL P S sie
b
iy T
Write about the wind and its types.

OR

Give an account of mineral wealth of Australia.

TR bl e WIS AL sy I
L
L duL L
India focuses on improving ties with its neighbours. How ?

OR
Write about the role of Judiciary.

_E AL L 281
[
¢ UZJ/'lg(uﬁd/KdL/mgg
Explain the organs of Public Sector.

OR

What are the differences between savings and investments ?

[ gtg‘ / Turn over
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49

.50

51

52
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PART -1V /IV-&4

5x1=5 z‘/ bl Jits 53
AL LA @
KL Sy (b)
JIEE Sl Uil (o)
bkl ) Wbk (d)
JIEIE G (o)

Draw a time line on the following.

(a) The National Commission for women was set up
(b) Devadasi Abolition Act

(c) Hindus Widow Remarriage Act

(d) India became a Republic

() The State Reorganisation Act

PART -V /V_&i
SECTION -1/1-5
5x1=5 szl §

Answer all the questions.
L S BBl Sitst L L el Y 54
CAH (a)

Mark the following places in the outline map of India.

(a) Pondicherry
(b) Madras

(c) Bay of Bengal
(d) Kolkata

(e) Tanjore
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SECTION -2/2_ %

10x1=10 _E GBS L L 55
JE7 ()
S ()
J¢
kAT ()
L L (e)
PENIRNG

UeEK U (g)
T ()

Sl ()
L5 G

Mark the following places in the World map.
(a) Pacific Ocean

(b) River Nile

(c)  Philippines

(d) Australia

(e) United States of America
(

(

(

(

f)  Cape of Good Hope
g) Sahara Desert

h) Bay of Bengal

i)  Great Dividing Range
(G) Mexico

-00o0-
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